riationed storage units or

DIy during




10.

11.

12

13.

14.

15,

16.

17.

18.

In____ type of search the list should be on sorted order.

A Sequential search b. Binary search
¢. Bothaandb d. None of the above

—— _isa directed tree in which out-degree of each node is less than or equal to two.
b. Unary Tree

a. Binary Tree
d. None of the above

<. Dinary Tree
The postfix form of the expression (A+ B)*(C*D- E)*F / G is?

a. AB+ CD*E - FG /** b. AB+CD*E=F ™G /
¢. AB+CD*E-*F*G/ d. None of the above

In linked list each node contain minimum of two fields. One field is data field to store

the data second field is?
a. Pointer to character b. Pointer to node
<. Pointer to integer d. None of the above

Which of the following is false about Binary Search tree?

a. The left child is always lesser than its ~ b. The right child is always greater than
parents its parents

¢. The left and right sub tree should also  d. None of the above
be binary search tree

Linked list is considered as an example of type of memory allocation.

a. Dynamic b. Static

c. Compile time d. Heap
What is the value of the postfix expression 6324 + - * 7
a. 40 b. 24

<. None of the above d. 75

Find the post-order traversal of the binary tree shown below.

a PQRSTUVWX b. WRSQPVTU X

¢ SWTQXUVRP d STWUXVQRP

A normal queue, if implemented using an array of size MAX_SIZE, gets full when:
a. Rear = MAX_SIZE -1 b. Front = (rear + 1)mod MAX SIZE
¢. Front=rear + 1 d. Rear = front
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